olJ
S

—_—

oA

Nfo

olo

op

D= o <

X8 o o

D= o <

8 o o

—

(8]



'—EI:_ ZB]—B—I:!]—X = {_2’ _1’ 07 1’ 2}3 Y = yly—“:—;
X - V& 483} o] Aofgiet. ol , £o] te
Fafolet
x+2 (x>0)
=41
-x*4+1 (x<0)

D R
=%



i

ol

ol



y=1(x)

Y




AT A = (Mo <x<1)oll st Aol Az &5y = f(x) <t
= g(x) o] 2 =7} obf ™I = ), (fogo f1)(d) 9] #h2

y
Anfelz?




A% A ) gl ofstel Yol ohd RRAT X E Yoo
SR 84 f(x) = 26 - 10x -5, g(x) = ~x2 + 20+ 100] A2
o, B X0 e 2 A

R K INORE

®oA @14 ®2

tlo

m o



® 2



B f) =2 glx) =+ 200 okl (f o g)(x) & FolR?

D (f o g)(x) = (x+2)? @ (fog)x)=x*+2
D (f o g)x) = (x-2) @ (f o g)(x)=x"-2



9. F&Fflx)=3x+1, g(x) =4x+a°l Hot (go f)(x) = 12x+ 7
ol JHE i, A= a9 27

@® -3 @ -1 ®1 @ 3 ® 5



10. e BA:= A

=
Aolck. ojgks

A o] A R oA R 2O & £ (x) £

7t EASE AL B A2 F3R17F

2
& fy ==Y
x (x<0)
-1 (x>1)
© fx)=
1-x (x<1)
© flx)= x (x=0)
x+3(x<0)
NG @ © ® ©
@® O, © ® 0,0,6



11. f(x)=ax+b (a0 x) = x+cet & o ° —9

( ) g() 2 8)\x x -3
0 ) y X E}
f (3)_ 2:}-/5]%1_E-/E>/\a’ b» C—’]%}\-E,;_"(J_;]EE-)()_ :a' ’

bl Hia=

yEgE

S ERE



=f7t

sfed -1

=kx+1° of
EE

)

Sk
=1

@ 3 ® 2

O 4



13. &= f(x)7F f(x) = ¥ +2x-3 0|2 P 2] o] A4 xof ot g(x+1) =
flx—1)°] 4H< o, g(0) 9] @k F-5tolzt

D L
-



[&h = A4 X oA x 2o did

A7

ufelz}?

O
—

old, £(2) +8(2) +h(2) 2 %

@ 2 ® 3 @ 4 ® 5

D1



to] X oA X 29

ot

S

=

{a, b, c}oll A
FE T

07H

&
e

X
St
=1

ol T
"L

15. A
!

A



(1,23, 4,5,B={-10 1}t T4+ f: A - B
Fol, £(1)£(2)£(3)f(4)f(5) =0 Q1 &= f & /W& -5t









19. % &2 f(x) = >2) , 8(x) = 3x—1°f tiste] (fo

D 0 @ 3 ® 6 @ 8 ® 11






21.

5x+2 < 4x + 5013 xi= A% U 0, Thg o] A Al

X -6x+5=0

®x=1x=3 @ x=1,x=5 ® x=1

@ x=2,x=3 ® x=2,x=5




Tx—5<4(x+1)0]3 x= AL o], 2% - 5x + 6 =05 EHU?

22.

@ x=2 x=3

@ x=2

D x=0,x=1

3

® x=-2, x=

@ x=3






24. OIAPAA 52 —ax+b = 0 O] F 20| Fo] 1 o], 2 o] He

TR 572 W, a+ b 9 S F5toit

D S
=%



1 1 _
25. #-brt1=0L 2%+t 4 — o] FhE Fateiet

5 L
3%



